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1. £ 7] & 350482 (10%)
1)Iim\/§_\/§ (2) lim_Sn>X
x>5 x2 _ 25 x>0 In(x +1)
2. £F 7| & 3L 5 #(10%)
2
(1)f(x):3X—7X+X5 @)y =5Inx+7)°
COSXx+e
8x—-3 ,x>2
3. waramficf()=q 11 ,x=2 > 3am Sk f(X) x=2/ALE @4 2 (6%)
19-3x ,x<2
4. M- TARES > B RSkl alt)=6t+3 0 ¢ rat=2pF » B R V(2)=5

9.

5
10. ¢ 4rh(x)= L
11 ®R &4 [ X it (8%)
e +3

12.

> i B Sl (t) (6%)
F7 5] & % 4 (10%)

(1) IXSSin xdx

@ [ ax

03X+ 2
Fh)=1(g(x) > 2 £'(4)=2,09(2)=4,9'(2)=5 - £N'(2) (8%)

¥Ry =/ Fry = XEOTR 2 T s M X B 0 For (8 s R A (B%)

¢ s f(X) =4x3+15x2 —18x+1 > RAp &~ B 22 4p $H& | ©(8%)

o dy =X foy = X2 HF F T 5 5 4 (8%)

xSin 5t

=t - AN(2) (8%)

¢ s f(x,y)=x"+3x°y* +cotx » KT 5] & i i (10%)

1) f.(x,y)

(2) 1, ()






